William asks the children in Year 2 and Year 6 if they walk to school.

This graph shows the results.
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Altogether, how many children don't walk to school?

How many more Year 6 children than Year 2 children walk to school?
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This graph shows the temperature in six cities on one day in January.
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Which city was 4 degrees warmer than Kiev?

What was the difference between the temperature in Oslo and the temperature in Berlin?
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The graph shows the heights of 28 children in Alfie's class, to the nearest centimetre.

10

Number
of

children ° ]

[ ]

ﬂ T ! ! ! !
120-129 130-139 140149 150-159

Height in em
Alfie is 153 cm tall.
He says,
‘Only one person in my class is taller than | am.’
Emma says,
‘You can't tell this from the graph.'

Explain why Emma is correct.
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Alfie asks some boys and girls about their favourite hobby.

He shows the results on a graph.
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The graph shows that 44% of boys chose sport.

Estimate the percentage of girls who chose sport.
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1 mark
120 boys chose reading.

Estimate the number of boys who chose cinema.

boys
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This chart shows the times when 5 children were at a swimming pool one afternoon.
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Who was the next person to arrive after Stefan?
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Who spent the longest time at the swimming pool?
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